8,392

67.2 9.8 7.3
557

4.7

32 55

7 1 17

41



13

4-1

ycle



refuse

repair

4-3







€Y
22
10
10
10

10
17 10

4-3

3500
3000 2,682
2500 225
O
2000
1500 1,591 m
1000 O
500 866
0
H H H17 H22

4-5




4-1

t/

10

17

22

2,682

2,681

| (100)

2,600

1 97)

2,574

1 ( 96)

225(8.4%)

280(10%) ! (100)

494(19%) | (176)

592(234) I (211)

1,591( 60%)

866( 30%)

1,605(60%)i(100)
796(30%)i(100)

1,406(54%)i( 88)
700(27%)5( 88)

1,522(59%)i( 95)
460(18%)i( 58)

2,002 2,037 | (100) | 2,037 | (100) | 1,966 1 ( 97)
1,343 1,336 1 (100) | 1,250 1(94) | 1,228 1 92)
10
4-2
4-2
100 t/
10 17 22
53 54 (100) | 51 ( 94) | 49 (91
5.9 11 6.5 | 12 (100 | 10 | 20 (154 |12 | 24 (185
35 | 66 36 67 (100) | 34 | 67 (94 |31 63 ( 86)
12 | 23 11 21 (100) | 7.7| 15 (70) | 6.4| 13 ( 58)
40 H8 41 (100) | 37 ( 90) | 34 ( 83)
11
) 10 100
@)
13
60

4-6




100t

20

4-7

40

10

25



€y

22

10 41.5
10
10 12
17 10
4-4
35000
30000 F 27,104 27,801 : 29,298 28509
25000 8'3085
20000 9,812 10,226 10,288 0
15000 15300 =
10000 14,945 17,557 17.138 g
5000
2347 1,511%92 : 1173
0 H H17 H22

4-8




4-3

27,104

9,812(36%)

14,945(55%)

2,347(8.7%)

27,801

9,147(33%) (100
|

16,660(60%) i (100
[}

[}
1,994( 7.2%) ! (100

17,557(60%) 5(105
[}

|
1,515( 5.2%) ! ( 76

17,138(60%) i (108)
[}

1,173( 4.1%)i( 59)

10
4-4
4-4
100 t/
10
410 408 i(lOO 429 i (105) 458 i (112)
R e B B S LT S LT EE T e it == ———-
[} [} [}
168 ( 41%) 172 42 | 100 | 205( 47%) , 119 | 217 (47%), (126)
[} [} [}
175 ( 43%) 179 44 | (100) | 197( 45%) , 110 | 211 (46%), (118)
[} [} [}
66 ( 16%) 58(14 ), (100) | 36( 8%), 62 30 ( 7%) ) ( 52)
10

)

95

99

4-9

22




15014000

4-10



4-5 g TEQ/
12 14 29
113.6 33.8 9.9 7.6 1.2
(€H)
30(60) RDF D) )
73(54) 32(49) 32(38)
O
(2)

4-11



22

12

12 10

22

13,102
9,269
3,833

12

10

12

27

4-12



